Layer 1 model questions
(Unit of pressure x unit of volume) gives us the unit of physical quantity -
BTN I x WOV JFF) (T (OO T JFP (M, ©f =T -

A. Force (J¢) B. Acceleration (§4) C. Work(?ﬁm() D. Power (&)

In a dry cell used in a torch -
A0 &% (Y 56 G 9% (A S T (T TSI WB ©f =4 -
A. thermal energy is converted into light energy.
(O1% #& SR *fSTO FHNBHO =7 1)
B. chemical energy is converted into electrical energy.
@RS *ff& (o *fero asi€e =7 1)
C. thermal energy is converted into electrical energy
(©1% #f& (o St TASHo 27 1)
D. chemical energy is directly converted into light energy.

(FRTN *If S ST AP * SO NSO =T 1)

Identify the factor on which the boiling point of a liquid depends.

S TP (T RO BoF N9 T @1 fofze |

A. The density of the liquid (\9<(Id YY)
B. The presence of dissolved matter in the liquid (ST BAg® ML SATES)

C. The refractive index of the liquid (SR AfOHTATE)

D. The specific heat of the liquid (ST HTATTFS ©1)

. Which of the following phenomenon is NOT associated with light?
fRTER (I TBATMT W A PG 7 2

A. Dispersion (IREgI)

B. Convection (ﬂﬁﬁﬂ)

C. Reflection (21|0$H-‘\1)
D. Refraction (fO39)

For the quantitative measurement of force we take the help of -
IR ARV AT Grvy ST [ =0 (72 -

A. Newton’s law of gravitation (fFNOBINE WY )

B. Newton’s first law of motion (fFNGGINT AN Hfo31a)



C. Newton’s second law of motion (ﬁ"@ﬁ?ﬂ? SRR \0319)
D. Newton’s third law of motion (OB WO o)

6. In deserts, mirage happens due to -

NGNS NI (o ROAF FIRY -
Ordinary reflection (TR A OHe)
Total internal reflection (SIS~ ﬂ‘fi’f@w
Defective vision due to heat (OTTAHT HwI] m @%)
Refraction (&)

o0 w »

7. A monochromatic ray of light is travelling from medium 1 ul

to medium 2 (as shown in figure). The refractive index of " B

medium 2 with respect to medium 1, for this ray is - P medium1 | o
B0 P T0ET SCEATRA™Y NN 1 (ATH NN 2 (S

CER (Foargah | & AF G5 MLTN 1 97 SCANCH
TN 2 I A= = -

0 medium 2

A. AO/OD B. CD/AB C. AM/DN D. AB/CD

8. You are holding a book of mass 2kg in your hand. How much force is your hand applying

on the book if acceleration due to gravity is 9.8ms?2?

SN IHfT 2kg ©ET A6 I2 (F 2O 4IF MR | I AFSFLS GA0F NN 9.8 ms? T,
(TN T[S IR A9 3T F© I AT FACR,?

A. 2N B. 20N C. 1.96 N D. 196N

9. According to Coulomb’s law, the force F between two charges q, and q, separated by
distance r in vacuumis F = in# . The value of K in SI system is -
7B W q, 8 q, NTNEICN TN r G A, FCHA g ST ©HE W&
@M T F = KLL | 51 TQfSTS K 97 W 247 -

A. 1 (Nm?)/coulomb? B.O C. 9 x 10° (Nm?)/coulomb?  D. 1 (dyne.cm?)/(e.s.u)?

10. Ratio of Magnetic length to the geometric length of a bar magnet is -

7 FHET (GBI AT S SIS F (R ST -

A.0.75 B.0.7 C.1.25 D. 0.86



11. The impression of the flame of a candle kept in front of the pinhole is formed on screen

in a pinhole camera. Identify the INCORRECT statement in this context
FRRTRITAR ST 4T JF0 (NS PR B1Y G5 FHRT=e SRR A7 o
Y| 9% 2P g 3o fofze e -
A. the flame appears upside down or inverted on the screen.
(T YT STeBT A1 1B (WY TCHR )
B. the flame’s impression gets blurred if the size of the pinhole is increased.
(FNTRITETT BT AMGTCAT R0 YT R AT =0T T )

C. the size of the impression of the flame gets larger if the distance between the
pinhole and screen is decreased.

(RR[GRUEN R LAERVEH MR PATCAT RCeT YR QT WP TG =T )
D. the impression of the flame is obtained because light travels in a straight line.
(FTLIE RI9 AT A PIEY AT AT IV DA )

12. In a pressure cooker the foodstuff gets boiled faster because -

(AT PP AMTET B0 (g Y PIK -

A. pressure cooker takes heat from the burners at a faster rate.
(CWWW (YCF B0 O (NN )

B. higher pressure is developed inside a pressure cooker and foodstuff gets boiled
faster.

(GHT0 (2T FIIAA OOTF T 51 (OfF IT e UTHI %o (5T 2T 1)

C. lower pressure is created inside a pressure cooker by the release of steam and the
foodstuff gets boiled faster.

@ {751 RETH FE (TR FIRS (GO REI (07 T e AV o
Of'a X )

D. a pressure cooker is made from materials with low thermal conductivity.
(IFG (X FFE FN O ARIAROIE TF TAFIY (A(F (OfF FAT 2T )

13. Identify the correct symbol for an electric cell from those given below.

NEF (AT B0 [FIROF (I G AfOF ASIBI6 61=® BT

A-_'”L B'4F 04‘\7 D. —(—




14. Two containers are kept on the table as shown in the

adjacent figure. If both of them have same mass and

contain equal amount of water in each of them which
one of the following is the INCORRECT statement?

ey FoamyIRt (BR W6 “a 40 2R Tormd o

GFR 38 O ATHIFOTS IM ST

NI T A, I (B (FAI0 g [7F0?

A. the forces offered by both A and B on the table are the same.
(CGIRTeT A <2 B SO BT TS I HNH 1)

B. the reactions offered by the table to A and B are equal.
(A G3¢ B A9 &S (B 9141 S ARSI 77 ST 1)

C. the pressure offered by A on the table is more as that offered by B on the table.
(CGIRTET A RIRT WS BI (BIRTe B =11 W@ BT (BT ([ 1)

D. the pressure offered by B on the table is greater than that offered by A on the table.
(CGIRTE B Q1T QWS 19 (GIRTeT A RIHT QWS BICHN (BT (M 1)

15. Which one of these liquid columns of various lengths given below does NOT

approximately indicate the standard atmospheric pressure?
AT T [fOT THOF 92 O BEBAT NCET (FINI0 AT 2N TN ST 51
T S A2

A. 762 mm of mercury (762 mm ATIN)

B. 76 cm of mercury (76 cm ATIN)
C. 10.3 m of water (10.3 m &)
D. 8.2 m of kerosene oil (8.2 m (PN (o)

16. If atemperature in a Celsius scale is C and that in a Fahrenheit scale is F, then the

correct relationship between C and F is -
W JBTO SINTET AT (FHA C T ¢ FILANRIRG (FA F =T, OIRC(A C <R F
IR LT ADF 45 = -

A §= % B. 9C=5F - 32 C. 9C + 160 = 5F D. g €32

17. 500 cal of heat is supplied to same masses of two liquids, A and B, both kept
separately at room temperature. The temperature of A rises by 20°C and that of B goes

up by 30°C. Which of the following statements about their specific heats is correct?



18.

19.

20.

500 FIEF O JP2 O GG O, A I3 B -9 TR FAT T, OwI2 &
SIANATT AT A G | A-GF SIFNIET 20°C (00 I 438 B-GF OIN&Al
30°C (JTG Y| SHI WA O T=F [R5 (I [IFSMB 5ifdw?

A. Both A and B have same specific heat (A 433 B SOIIA2 HARFS O JF3)
B. A has specific heat 2/3 of that of B (A 9 STAEFF O B 4 2/3)

C. B has a specific heat half that of A (B I AP O A Wiﬁﬁ)

D. A has a specific heat 1.5 times that of B (A J9 QCARFP O B I 1.5 B)

A car travels 1.5km at 10ms™ and next 1.5km at 15ms™. What is the average velocity

of the car?
G MG 10ms? (FTN 1.5km, G2 15ms (JTST AFIS! 1.5km BeTC, MBI TGTsf
Fo?
A. 12 ms? B. 125 ms? C. 13 mst D. 13.5ms*

When two blocks of ice are pressed together, they combine to form a single block of
ice, but if two blocks of wax are pressed this does not happen. Why?

7f0 39T YOTE PN (BT LA YSHO (GIGT (705 I 5 74fo (ewa 76
DRI (BT 4T ©f TN | 9 PR -

Gravitational attraction between ice blocks is stronger than gravitational attraction
between wax blocks.

[RTFLS H6 VPR VFHI (NN HHER NEHFE VFHI (GTT (ST 1)
The applied pressure increases the melting point of ice, but decreases that of wax.
([AIGRS B9 IR NeT~I= MG (M, (B (WA ST~ ST (M 1)

The applied pressure decreases the melting point of ice, but increases that of wax.
([AIGIS GBI JACHF TN PN (M (PG (NS 51~ MG (0T 1)

Water at the surface of contact of the blocks helps ice to stick together.

(6 ITFATGT ST SAF el LGHOIF WG AL )

Two pieces of wood, one larger and one is smaller are taken out from one same log of
wood. The larger piece is kept floating on water while the smaller one floats in a solution

of sugar in water in two different bowls. Identify the correct statement in this context

T P BIEAT, JF6 G AL JF6 (R6, JF2 957 (A(F (o AT 26| IG N6
TeT ©IT 3% (GG BT Sy T ©IT | G2 250 Sf9F IS D0 612 4 |



A. Both of them are receiving equal buoyancy because both are floating.
(SOTR AW IO AR LY TOIR ORI I)

B. Lighter liquid water provides relatively less buoyancy.
(RIETRT ©F] GieT WTCHATHIFO PN O AN P 1)

C. heavier liquid sugar solution provides more buoyancy.
(o141 S ofNT T B39 [ 2T 2 F(J)

D. Both the wooden pieces are receiving buoyancy equal to their respective weights

(OOT FICIF GRAT OITHA G fNG ST ST 2T AR )

21. Match the statements in Column | with the correct answer from Column Il and choose
the correct option.

YN BE 7 (IO S Fo 88 97 Teas@ (e 432 Nea s
gt fofze F7|

Column | (A BVW) Column Il fRerT B8

1. Mass number of an atom is the number of protons and | A. Nitrogen
(PO AT TF AN R (AT ST &R (FTRCEITSH)

2. The subatomic particles with negligible mass B. Argon
(VAN ©F ST SANTNARS F) (S9)

3. An atom have stable electronic configuration C. Electron
(G AR SZ® AAPGA [IA) (RTFG)

4. A molecule formed by sharing of electrons (covalency) | D. Neutron
(I O T RAAS{ANAT STNIHBINF AT (FBE)
(TGN (ORI =)

5. A metallic atom have unstable electronic configuration | E. Sodium
(6 4o NINYH 7F© ARG [T (CTBa)

1-D, 2-C, 3-B, 4-A, 5-E
1-B, 2-C, 3-D, 4-E, 5-A
1-C, 2-B, 3-A, 4-E, 5-D
1-E, 2-D, 3-C, 4-B, 5-A

oo ® >

22. Anelement 'Y' has electronic configuration 2, 8, 6. The element 'Y' is a -

GF6 N 'Y G ZETRE [N 2 2, 8, 61 G "Y' e A0 -

A. Non-metal (YY)

B. Neutron (fFNBE)

C. Noble gas (CNTCT IT)



D. Neon (ﬁﬁl?l)

23. A metal (M) forms a chloride MCls. The formula of its nitride should be -

G0 4G (M) IF6 (FRIZG MCls 579 B | MTOGF N2RRGT A(FO 2 -

A. MNs B. MN C. MaN D. (MN)s

24. AgNOs + NaCl - AgCl+ NaNOs

The above reaction is an example of -

TR RfGATD RS (@RI SarzaeT?
A. Substitution (RZI)

B. Double displacement ([Jf<X)

C. Decomposition (ﬁ'ﬁﬂ(’vﬂ)

D. None of these ((PITNIGIR <)

25. FeCl3+ NH4OH — NH4Cl + Fe(OH)s
To balance the above equation, the ratio of NH4OH & NH4Cl is -

AT ANFINOF STNoT F[RAAT TNy, NH,OH A8 NH,Cl I TYHNTS =[S -
A. 3:3 B. 2:3 C.1:2 D. 3:1

26. For liquid state of matter, which is not true-

AL OFA NI G, TN 50T -
A. The particles gain energy. (ﬂs‘ﬂ\?’ﬂ%{ S WG FF )]

B. The stored potential energy increases the space between particles.
(Tf2p® fBfoxfe FNSET VL g Ao )
C. The inter-particles attraction increased due to the increasing distance

between the particles.
FNSFTT T FIF QG TSTE FIACT WS-FNF ¥ I 21T )

D. The particles become free and escape as a gas at the boiling point

(T3l TS AT AW A STPOAICE ST R (IR0 W)

27. Which of the following is not obtained on heating Mg (HCO3),?
Mg (HCO3), N (e N6 (PO NS T T2
A. MgO B. MgCO3; C. CO: D. H20



28.

29.

30.

31.

32.

33.

Among the following which is not a fuel ?
fRRfeoSEa 0w (FWG et w92
A. CO; B. Water gas (3F019 50™)  C. LPG D. Producer gas (8§ ATH 513157)

In the reaction Fe203 +2Al — Al2O3s +2Fe, the oxidising agent is
Fe203 +2Al —» Al203 +2Fe G2 RIGIT G *m1ffS =4 -
A. Al B. Fe C. Fe20s3 D. Al20s3

The electrolyte used in copper plating of an article is —
A6 IFT Q2T FHR AT TS (FI SFG T2 “/m1ef A= FA1 2T 2
A. Copper Sulphate solution @WWW‘T )
B. Solid Copper Sulphate @5@_“[35"11?1' STET(P0)
C. Powdered Copper Sulphate (@G,T A HAEACH0)
D. None of these (AQTEATF (FITMH2 )

H.SO, acts as a strong oxidising agent. In which of the reaction, is it not acting as an
oxidising agent?

H,S0. IBT0 &N T i R 1 FE | (1 [RiFrs, 46 S smrf
fZSIR PGy T 12

C + 2H,S04— CO; + 250, + 2H,0

CaF; + 2H,S04— CaS0, + 2HF

S + 2H,S04 — 3S0; + H,0

Cu + 2H;S04 — CuSO4 + SO, + 2H,0

oo ® >

Element X- forms a polyatomic molecule & element-Y is liquid at room temperature.
Among the elements He, Br, Pt, & O; X and Y are.

N X - G0 ATSIGNS WY S9N B A (NT- Y L ST NI&Ary O+ |
He, Br, Pt, & O. ORI YT X G2 Y = -

A. X=He, Y= Pt B.X=0,Y=Br C.X=0,Y=He D. X=Br, Y=Pt

On increasing pressure, the solubility of CO; in water -
BIA QIOICeT GileT CO, A9 TNl -
A. Decreases (XM AN)



34.

35.

36.

37.

38. What happens when a solution of an acid is mixed with a solution of a base in a test

B. Increases (3@ )
C. Decreases then Increases (JICN I AR OIFA] ?[f'% AN)
D. No effect ((T7 O] (W)

Both covalency and electrovalency are involved in -

(IBrS STNCIOTOT 8 SHSTITTO ToI2 TioS, ©f 26 -

A. CCls B. CaCl, C. H.O D. NaOH
The metal which liberates H; with cold water is -

(T QT 1T GLeTR S RGN FCA H, [R5 B, o1 7 -
A. Fe B. Al C. Na D. Cu

The molecular formula of Methane is -
TN SR{FH HALTF© =6 -

A. CH4 B. C>Hs C. C3Hg D. None of these (ﬂ@(c_ﬂ?l' CQﬂCWlI@E W

Gunpowder is -

NGOG =2 -

A. A diatomic molecule (GF5 ANINTIF =)
B. Non-metal which is lustrous (\G&Sze] SLTQ)
C. A metalloid (4F6 TEF)

D. A mixture consisting of elements & compounds. (C3Ie g8 (9 STNF® JHI6 A1)

tube?

Y GBI0 TH TIT (FTS (GBSO N FHE HICT (VAT R, O FI G2
I. Temperature of the solution decreases (AT OINNTEl I ATR)

Il. Temperature of the solution increases (GICYS OIANTEl Qﬁﬁ AN)

1. Temperature of the solution remains the same (G OINNET JF2 AH)

IV. Salt formation takes place (FIR9 I« =)

A. () and (1V) B. (I) and (111) C. (I only D. (I) and (1V)

39. A crystalline allotrope of carbon built up from a hexagonal unit is -

6 TEQOIT RBMWE (ATF (O FIAN JFB (FEASTHFR FATSR 2T -

A. Graphite (3T120)



B. Coal (PpIeT)
C. Wood charcoal (FICHF FIOFI)

D. Diamond (2I4T)

40. Which statement is true?
@ IS G T05?
A. Nitric acid turns red litmus blue.
@ 2(GF TG A1 Ao NS | FI (T 1)
B. Sodium hydroxide turns blue litmus red.

(TSN TIGHRG N AN A (I (O |)

C. Sodium hydroxide and hydrochloric acid neutralize each other and form salt and

water.
(CTTGIN TRG RS G2 FRGIFHI[TP DTG TP AHNTCE 9N FCF T
G2 Ge 15 BLAI)
D. Tooth decay is caused by the presence of a base.
(RO FY FFIIF GAZOF BT = |(
41. The number which can be removed without changing the average from the numbers:
0,2,4,59 s -
0,2, 4,5,9 g% Y e (ACH (T YA I FATeT A4 SR 51 91 W
SARIONT ACF, O = -
A 0 B. 2 C. 4 D. 5

42. The least number by which 2352 is to be multiplied to make it a perfect square is
2352 ST fOrF “Yofqsf 51241 FAT© =0 SRNT (T A4S BT @ FACS XA, ©F =4 -
A. 6 B. 4 C.3 D. 8

43. The smallest number of five digits exactly divisible by 16, 24, 36 and 54 is -
AT WTHT FHON (T AL 16, 24, 36 8 54 BT AT f[FOTOT (I, O Z4-

A. 10244 B. 10296 C. 10368 D. 10299
44, If 1.14 is expressed as a percentage of 1.9, it will be-
M 1.14 (F 1.9 A7 *TOHAT RN AP F1 2, ©f RS -
A. 6% B. 10% C. 60% D. 90%

10



45,

46.

47.

48.

49.

50.

51.

52.

Two numbers ‘A’ and ‘B’ are respectively 20% and 50% more than a third number. The
ratio of the ‘A’ and ‘B’ is-

70 U A’ & ‘B’ DO WIF 6 MAT T30S I 20% & 50% [ ‘A’ 8 ‘B’

I AT R(J-

A. 4.5 B. 25 C.35 D.54
If 204 = 12.75 = 16, then the value of 2.04 = 1.275 is -

[M 204 + 12.75 = 16, OIS 2.04 + 1.275 9 VN (S -

A. 1.6 B. 0.016 C. 16 D.0.16
Which of the following hour is equal to one second ?

A" oMy F© 01 I TG I AT AN ?
A. 0.00026 B. 0.00025 C. 0.00024 D. 0.00027

If the digits in the unit place and tenth place of an integer be y and x respectively, then
the integer is -:

M (P IF0 Y TR G 8 T NG ARHIO TAECN y 8 x T, O
SLUIG RS -

A. Xy B. x+y C. 10x+y D. 10y+x

A is taller than B and C is taller than D. If C is shorter than B, then who is the tallest?
A IM B I 77T, C I D I o171 =T ]R C M B SCAHI LICOT =¥, O
(P AIBE <171 ?

A. D B. C C.B D. A

Which number would replace the question mark in the series? The seriesis 7, 12,
19, ?, 39.

7,12, 19, 2,39 9% (WS 2 FMA (FN FIIMG = ?

A. 24 B. 26 C. 28 D. 29

If 16a + 16b = 48, then what is the average of a and b ?
I 16a + 16b = 48 T, S a 8 b 4T T FS ?
A. 15 B. 2.5 C. 3 D. None of these

12 workers take 4 hours to complete a job. How long would it take to complete the

job with 15 workers?

11



53.

54.

55.

56.

57.

12 G #F (ST JH6 FIO 4 T T T | 15 TN JNF FS T619
FIGIB T FAR?

A. 2 hours 40 minutes(2 01 40 TNWE)

B. 3 hours 12 minutes(3 01 12 TXND)

C. 3 hours 24 minutes(3 01 24 TNWE)

D. 3 hours 30 minutes(3 01 30 D)

What will be the value of =+ =+ L ?
56 72 90

1 1 1
A2 B.2 c.Z D. 1
84 70 90 6

Two sides of a triangle are of length 6 cm and 8 cm respectively. If the length of the
third side be x cm, then the range of x is —

6 fAGTGE 76 2T (il TAGFCN 6 cm 8 8 cm | (% ©OIF I CAfs x cm 2,
O x A9 M 26T -
A. x<l14 B. 1<x<14 C. 2<x<14 D. 6<x<8

The average of two numbers is xy. If one number is X, then the other number is —
I AT TG xy A I JH(6 x T, O AWIG =4-

A.yl2 B.y C. (2xy-x) D. x(y-1)

A man's age is 125% of what it was 10 years ago. His present age is:
I NS I3 10 IR LT I ¢F 125 % | OIF IOV I =-
A. 40 B. 70 C.50 D. 60

The ratio of the present age of a man and his wife is 4:3. After 4 years this ratio will

become 9:7. If at the time of marriage the ratio was 5:3, then they married -
I S 8 O QI TONN I A7 HFATS 4:3, 4 IR AT W0 (S 9:7, TN
RAMZF ST (T TS R ©F 5:3 X, OF O ]I FIRCE -

A. 8 years ago (8 IR |ICY)

B. 12 years ago (12 27 ™I()
C. 11 years ago (11 IRd ™I(Y)
D.10 years ago (10 IR HICY)

12



58.

59.

60.

61.

62.

63.

A man can row 8 km/hr in still water. If the river is running at 3 km/hr, it takes 3 hours
more in upstream than to go downstream for the same distance. The distance of the

place is:

I S B O 8 BRI (@O WG I | M TR (F0od (@91 3 BTG
T R (ATSR RARNCS IR HAY WOFN FATO (AT WP I (A 3 T00
ST (@ =S, O 82 FNF g RS -

A. 22.5 km B. 32.5 km C. 25km D. 27.5 km

Today is Sunday. After 61 days, it will be
G AR | 61 A 7 @it =01

A. Sunday B. Saturday C. Friday D. Thursday

Second Saturday and every Sunday of a month is a holiday. How many working days
will be there in a month of 30 days beginning on a Saturday?

TR oy *IRRF 8 AfS IR BT | 951 30 MR (FI WS =31 ey &
e, & WA (W6 F© FIOGE M TSI MI?
A. 18 B. 21 C. 23 D. 24

x men working x hours per day can do x units of a work in x days. The amount of

work that can be completed by y men working y hours per day in y days is-

x G NI ATSM x T6I S PG LA x M 9 x JFP PG B | y O N
ARG y T061 FE PG P y AN 4 (T AFAN FISy HF ©f 2e-

A. y3/ x? units B. x 2/y? units C. x 3/y? units D. y?/ x 2 units
The ratio of two numbers is 3 : 4 and their H.C.F is 4. Their L.C.M is:

7T ST NS 3 : 4, ORI 51 5T .8, 4 (A, & 5. Q. (S -
A. 12 B. 48 C.24 D.16

A mixture contains alcohol and water in the ratio 4 : 3. If 5 litre of water is added to
the mixture, the ratio becomes 4: 5. Then the quantity of alcohol in the given mixture

is -

13



64.

65.

66.

67.

68.

GG FETN SIEATHIRE 8 TLAT WS 4 :3 | FNHAfOre 5 A6 Ge Grefeet
WS T 4 :5 | O, S NHAB® (T AR ATACHIRA %o ©f 24 -
A. 10 litre (fFT019) B. 12 litre (FIGIF)  C. 15 litre (KIGIF)  D.18 litre (fFI019)

In a 500 metre race, the ratio of the speed of two contestants A and B is 3:4. Initially,

A was 140 metre ahead of B. Then, A wins the race by (in meter) -

500 fNGIF AF6 NG ARSTHNOIT A & B 12 ARSTNNT (T Wy ANT© 2 3:4 .
A, B A3 (ATF 140 O Af51TT (AF (TG &F F(E | A To fNGNF AfSraifren®
IS B ©Of 267

A. 20 metre(ﬁﬂ?@) B. 60 metre(ﬁl@@) C. 40 metre(ﬁﬁlﬁ) D. 10 metre(ﬁﬂ?ﬁl)

If the length of a rectangle is halved and its breadth is tripled, The percentage
change inits area is -

G0 WTOTHIGR TN (F TP JI3 2% (3 fONSH BN (T CFAPLE oAl
(T AFRTEN 2(J O =4 -

A. 50% increase (50% Jfa ()

B. 25% increase (25% i’ﬁﬁ ATQ)

C. 25% decrease (25% 331 ATS)

D. 50%decrease (50% X1 ATC)

It two numbers are in the ratio 5:7 and their LCM is 315, then their product is —
70 ST WAYNS 5 : 7 | OICHA & .51 .3 315 X[, O BNHe XS -
A. 315 B. 2385 C. 3285 D. 2835

The number (6n? + 6n), for natural number n, is always divisible by

n FrOIMIP AL T, (6n2 + 6n) AFIIF TLANSE ST (T ST A LM
R ey 20 ©f =2 -

A.only 6 ((FITNTA 6)

B. only 12 ((11q 12)

C.6and 12 ( 6 49R12)
D. only 11 ((PITNIG 11)

How many times two hands of a clock remain in a straight line in the opposite

direction in a whole day (24 hours)?

14



69.

70.

71.

72.

73.

ST T (24 7019 ) SR FI61 HIC T G ST [AISME A 2
A. 22 B. 24 C. 44 D. 48

Given that a, b, ¢ and d are natural numbers and that a = bcd, b = cda,d = abc then
(a+b+c+d)?is-

a, b, c 938 d FrOIR{P ALY €S a = bed, b = cda,d = abc | OIR(T (a + b + ¢ + d)?
3q —

A. 16 B.8 C.2 D.1

When John was a primary school student he had to multiply a number by 5. But by
mistake he divided the number by 5. The percentage error he committed is-

G YN ATENTR HA NGO YN OIF B0 AL (F 5 RN QT FACO I
AR | QAN (37 5 FIRAI ALOIE I SR | (57 *FOBAT (T G AR O ZA-

A. 95 B. 96 C.50 D.25

A person has night blindness. Which of the following components is missing in his
diet?

GF NG TSP (@15 SR, OIF LA (FIA6 NJAZS 2

A. Minerals (ﬂﬁ‘\‘ﬁ Cﬁ?ﬂ

B. Proteins (CE]T%T‘D

C. Vitamins (@ﬁﬁﬂ)

D. Fat ((§% &)

Which of the following is a helpful bacterium?

fafd® (S0 SAFIR PO -

A. Streptococcus sp. (CCEBIFERIN)
B. Bacillus sp. (?I'STﬁ?“lTﬂ)

C. Lactobacillus sp. (FTSIRPLBIRBIEATT)
D. Salmonella sp. (CTSETCNITNET)

Which of the following is closest to a balanced diet?

faafafde 4my @fea T (S SN A0 ST FIFIG 2

A. Fish curry (NT®)
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74.

75.

76.

77.

B. Meat (WI3¥)
C. Milk (77%0)
D. Vegetable stew (*TFIING)

Pneumatophores are found in plants growing in
BT (T3 SR (AT [, (T AHNS Grqry --
A. Oxygen rich soil (TGN Tz Wfore)

B. Loamy soill (CVIIWT“TTIT%(G)

C. Clayey soil (ﬁﬁ?ﬁﬂﬁﬁ)

D. Saline soil (CTIT?ITTIT%IE)

Which of the following is not a fungus?
AR (W0 7ar® 77 2

A. Rhizopus (T20GIT)

B. Penicillium (¢S

C. Neurospora (FSTRITE)

D. Staphylococcus (SOTPIR(ATRRIN)

Which of the following cell organelles are non-membranous and are found in both

prokaryotes and eukaryotes?

RS (W @FRT AFYG TR 432 (ATFNAAC 8 TCHNTIG Borg
IS ?

A. Vacuoles (OITH8«)

B. Mitochondria (NT2{BTHG )

C. Lysosomes (aﬁmm

D. Ribosomes @ﬁﬁm

Which of the following is present in trees of saline environments?
IS AR {§-4 67 (F=I0 [a=»

A. Prop roots (C2T9 D)

B. Pneumatophores (FSNTTGITHIA)

C. Thorns (35?'6‘0

D. Stilt roots (I?GFT?I?IFE‘)
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78.

79.

80.

81.

Often cultivating legume plants in between two rice crops returns the fertility of the

field. Which microorganism is related to this?

O AT TN VGG Y B AT G2 A& Sq S0 SToAFe WG
(PG 2

A. Lactobacillus (FTRTBIRITI)

B. Nitrosomonas (ﬂﬁl’ETCﬂTCYITﬂTﬂ)

C. Rhizobium (J12TSRAN)

D. Nitrobacter (NT?E?ST%‘?T)

A friend of yours has difficulty in clotting blood at a flowing wound. Which vitamin
could he/she be deficient in?

(OTNIR IFHI (MR (I SN (IO (510 I G IF 20O 51 w1, O (MR (FI
fSBIN 49 Tre] To1R?

A. Vitamin E (foBINN E)

B. Vitamin C (F&BITNH C)

C. Vitamin D (F$BIN+ D)

D. Vitamin K (Iw@llﬁ-‘l K)

Which of the following glands is not an endocrine gland?

N Sfafie af¥ o W @t WS af ¥31?

A. Pituitary gland (ﬁE?GI g Sffi)
B. Thyroid gland (T2JCTG &%)

C. Adrenal gland (gﬂ@‘l < 51@)
D. Salivary gland (1T ‘iﬁ;i)

The substance stored in the camel’s hump is

GLoF TS AT H0GT T SAHS A, O RO -
A. Water (\Gi<l)  B. Protein (CS{T‘%T‘D C. Fat (FJ10) D. Carbohydrates (“WQT)
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82.

83.

84.

85.

86.

You are provided with the following reagents and equipment including blue vitriol,
water and a plastic cup. Which experiment could you perform with this set of
equipment?

(ST BHBY R BT, Gl G AF0 AT I3 DI (&M RO | 93
THF @t AT BN (FIN 2116 FACS AE?

A. Osmosis (OAIY)

B. Diffusion (J5TY«)

C. Absorption (C*T)

D. Transportation (AFI2)

In which of the following diseases does the number of platelets fall drastically?
AR @ITSfEd Ny (P (@IS Wb @l T (ABEAG AL O O N
JH -

A. Malaria (SICTSST)  B. Plague (C2%1) C. Tuberculosis (F5%1) D. Dengue ((G%)

Which behavioural trends are encountered in adolescent boys and girls of 15-16
years of age?

$¢-5\b IBF JCICTI A0 (R T (VI N (FIN W53 6 @ FE 741 (0o
AL ?

A. Risky behaviour (2 @63

B. Intense emotion (OIF STICT AF)

C. Mental restlessness (NINPTP NZol)
D. All of the above (ﬂiﬂ‘d‘ﬂ%}

Which of the following is a skin disease?

fATRfERS @151 @ffR @G 90 Bt
A. Typhoid (GI2(IG)

B. Polio (CTfe18)

C. Ring worm (WTW)

D. Rabies (\GicTIOR)

Which of the following pairs of cellular organelles and respective functions is not

correct?
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87.

88.

89.

90.

RS (FM0 (SR T 8 O FNGH G ADF (GG «F 2
A. Golgi bodies: Breakdown of complex molecules (575 %G : GG NV 9I%A)
B. Mitochondria: Synthesis of ATP (NIR(GIPGHT : ATP B HR=)

C. Endoplasmic reticulum: Protein synthesis (ﬂ@%@ﬁmwﬁm: oo NS

D. Plastids: Photosynthesis (X100 : ATATFHITET)

In a compound light microscope, magnification takes place

G5 CTT NRGHIHHN FOIT ISR TG 2

A. Once (1 dT9) B. Twice (2<919)  C. Thrice (3 9I<) D. Many times (JIRd19)

Identify the correct pair

A. Malaria: Viral disease (NITCHTIRH - ©IR qfow @9

B. Dengue: Protozoal disease ((Of - CATGITGTH 96w S]R))
C. Plague: Bacterial disease ((¥ - EUETIERIRIIOC] 9)

D. Tuberculosis: Viral disease (I - [RETIR R3O0 9)

Identify the incorrect statement.
e R3S G sI=re S |

A. Glandular epithelial tissue uses food energy to secrete molecules.
ATNGAR AT o5 =) RS9 FICS 45 *1f S T2 FA |
B. Nervous tissue uses food energy to create electrical impulse.
ST 557 (A3fo WICsT (o} FA0® 4y *Mf & IIRE LA |
C. Bone tissue uses food energy to create mechanical strength.
G4 o5y TFS *f& (R Tt 4 IS 3927 I |

D. Muscular tissue uses food energy to create mechanical force.

(oI o5 TfFE *If& tofF Fare UMy *If& 1921 B |

Which of the following symptoms indicate Arsenic poisoning in a person?
RS (FW S50 ete YN AW (T JFGH NS A 73 o
(TN H[&pIS AR ?

A. Brittle bones and teeth (R1® 8 G JR(G2 (GLH TX)
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91.

92.

93.

B. Black spots on the skin (BTN BICEAT (RIA ATY)
C. Paralysis of facial muscles J(C4F (A% G 20T M)
D. Arching of the spine (f*5 47 NTOT (JTF )

Which of the following symptom is not present in hyper-secretion of somatotrophic
hormone?

CATNTGIG 1 XACNNT WAF HICN B0A (T 56 6 (7241 T =1, ©F el -

A. Abnormally tall (X £ C) [IEEACIEI0) gr%)

B. Weak muscles (@%1 Cﬂ‘fﬁ)

C. Increased blood glucose (& (RIS W{@)
D. Round face (CoNTEIPNS YYNGe)

Find the odd one out based on the skeletal system of the body:

(M2 FEOCEL O (P GG AARGI?

Observe this Pumpkin flower. Give reason why this flower must cross pollinate.
G2 ACCT P RO G DA (MY | SN AT (91, G2 PoABCP (PN 30K
TSNS TOITOR R?

it has only gynoecium. (£]3 %fc*ﬂml;(.\:) (I TSFRAOF R )
it has brightly coloured petals. (£3 ?ﬂﬁ?(\') @%ﬂ JOET MeTNDT JCACR 1)

it has only androecium. (&3 313«“1@(.\9 (P 7 THFNIB P TR 1)

it does not have the calyx. (513 ?ﬂlf?(\') 21’% CE] )

O 0w »
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94.

95.

96.

97.

Indiscriminate deforestation without obeying rules can have which of the following

consequences?
TCNCS (TN A (N A R (L6 (P 1 TGS b 56O =@ A 2

A. Carbon di-oxide and dust may rise in the air (TSI LT WG CO, (TG (JTO ANK)

B. Temperature may rise (N IMOT9 AT )
C. Wildlife may be lost (TN AT S W (ICS 2A)
D. All of the above (4% 39 PN 5 (W HI(F)

The national aquatic animal of our country is

OO Gy Gt ATV =T --

A. Gangetic dolphin (5] BWF)
B. Snake (A1)

C. Crocodile (=)

D. Sea turtle (ﬂTifRﬁW"f(

Characteristic 1: the cell contains cell wall, nucleus and other organelles but no
plastids.
Characteristic 2: the cell wall is made up chitin.

Which microorganism shows these characteristic features?

IR 1 G0 (PICY (FIRATSIR, AT & ST W91 ATBEAS (ARG
TP =

Q@R 2: qTRA (FIIATHIT FIR6A Bl 5o

SATIT (IR 7T (FI Y0V WG (74T T2

A. Bacteria @W(’Bﬁ?ﬂ)
B. Protozoa (WTWSiTa)D
C. Fungi (R4lp)
D. Algae (?“WTFT)

Global warming, now speeding up evermore, has already endangered the polar

animals; in what way has it affected them?
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Y T 12 (J0 HEER, W Ol Tl (NP 2B AN [N Y
TR | GRIATNT T SN Bl O (OR?

interrupted reproduction (ST AT AT YOIR)
lost habitat (STCHR IFTEICNL WIS TO(R)

dwindled food supply  (OITMT Y] HNWI] ATR)
all of them (4% 3<% TO(R)

o0 W »

98. What is your view of promoting eco tourism in the Sundarbans, combining

entertainment and revenue with ecological integrity?
BT BIRGUN AT S ST APIATR AT SEpo 49 8HNHS8 B3P g
(MTF FAT| STVRACN 20 BIRON 9100 (ST (HFTd (TN G197 B2

A. tourism hotels in forest area with view and safari.

[A fooa BiROW (FEH, IS AT WK ATFIRF II37% AR 1)
B. hotels outside forest area with tour into forest.

@S A2F BIRON (@6, (TN (A(F NI fOorF “rfBrad 1% IR 1)
C. eco friendly resort in forest area with view and safari.

@AY FoOE AT TFHT RIS, TS R F W AR 737 AR )
D. resort complex in forest area with view and safari

99. What food supplement would you suggest for a child with features such as weak and
bent legs and caving chest?
(P JHI0 ST o =R Jre7 461 71 0T (& g | o Freiis 3@ o
RPN Gy (I AT THPIR?
A. lemon, lime (ﬂTf%(?"Iﬁ, W (1q)
B. Milk, egg, spinach (74, f&N, #1e1g *11<F)
C. porridge, khichdi ((F=Ton, fAHY)
D. cucumber, gourd (*131T, ?"I'I'@)

100. In most of the commercially available pickles, vinegar is added. The role of vinegar is

to

o

G (T WHT [T =T, O AT IS0 fON9IH (T A, A9 FIE --
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A. Increase the taste of the pickle.

(ATBICIL TN NOICAT)
B. Prevent bacterial growth by raising the pH.

C. Prevent bacterial growth by lowering the pH.

D. Increase the shelf life of the pickle by promoting sourness.

(GIACH GIBCY I FIfg I
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